MA 165 Exam 3 01 Fall 2011

NAME SOLLTIONS

10-DIGIT PUID

REC. INSTR. REC. TIME

LECTURER

INSTRUCTIONS:

1. There are 8 different test pages (including this cover page). Make sure you have a
complete test. '

[\)

. Fill in the above items in print. Also write your name at the top of pages 2-8.

w

. Do any necessary work for each problem on the space provided or on the back of the
pages of this test booklet. Circle your answers in this test booklet. No partial credit
will be given.

4. No books, notes, calculators or any electronic devices may be used on this exam.

5. Each problem has 8 points assigned. 4 points are given for taking the exam. The

maximum possible score is 96+4=100 points.

@}

. Using a #2 pencil, fill in each of the following items on your scantron sheet:

(2) On the top left side, write your name (last name, first name), and fill in the little
circles.

(b) On the bottom left side, under SECTION NUMBER, put 0 in the first column
and then enter the 3-digit section number. For example, for section 016 write
0016. Fill in the little circles.

(c) On the bottom, under TEST/QUIZ NUMBER, write 01 and fill in the little
circles.

(d) On the bottom, under STUDENT IDENTIFICATION NUMBER, write in your
10-digit PUID, and fill in the little circles.

(e) Using a #2 pencil, put your answers to questions 1-12 on your scantron sheet by
filling in the circle of the letter of your response. Double check that you have filled
in the circles you intended. If more than one circle is filled in for any question,
your response will be considered incorrect. Use a #2 pencil.

7. After you have finished the exam, hand in your scantron sheet and your test booklet
to your recitation instructor.
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(8 pts)

f(z) =3z* —42® — 1222 +1
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1. Find the absolute maximum and absolute minimum of the function

on the interval [—2, 3], without specifying the value of z which attains the absolute

maximum or absolute minimum.

§/(X)=: ;12)(2_. 19 Xz—— 94X % A. absolute max 33

~ 1Zx (X(L—— K — 2) B. absolute max 28
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absolute min —31
absolute min —4
absolute min —31
absolute min 1

absolute min —35

(8 pts) 2. If f(z) = mx_ T then find the values of z at which f has a local maximum or a local
minimum. Donarnt alb xg0
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(8 pts) 3. If g(z) = 423 — 3%, which of the following statements are true?
(1) g is decreasing on (1, 00).
(2) g has a local minimum at z = 0.
(3) The graph of g is concave downward on (—o0,0).
Q=43 = sx” A (1), (2), and (3)
%),m 2_92% = 12% (1-% 5

. (3) only
/ 0 g -~——--
o ’L
(D v et D. (1) and (2) only
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) wuv nol Teua
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T 0= 24%-26x" = 12x (2-3%)

173 0
9 1 = Mw‘im;,: =2,

—

X E. (1) and (3) only

(8 pts) 4. Suppose that the second derlvatwe of the function f(z) is given by
>

—— e, e et

f(z) = (w+3) (a:—i—l) (:cjl) (_:'Z_Z?’) (z—5).

How many inflection points does the graph of y = f(z) have ?

A. None
// - c - ' : 4( - o - GL+‘
Clx) 0+wm“"“’@ = X B. 1
1 3

C. 2
X D. 3
E. 4
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(8 pts) 5. If f'(z) = g'(z) for all z on the interval (0,8) and f(1) — g(1) = 2, then determine the
value for f(5) — g(5).

A 5

¥ B. 2

C. -5
Lot r(wwf(‘w*a S

Thewm 00 = {72231 =0E. can not be determined from the above information only
g(Y —%(X/l = consl onm /0,?)
(1 )—Cé[i) - 2
&) -96) = 2

AR

(8 pts) 6. Compute the following limit

e _1-g
lim
r—0 xz

Warning: In the numerator, the power of e is 2z and not z.
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2 T
lim (1 -+ —>
Tr—0oC xT

(8 pts) 7. Compute the following limit

(1+2) - -g’gm('*%ﬁy_ﬂexgm(’%) A. DNE
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(8 pts) 8. Compute the following limit

lim T !
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lm (2 o)l xbxosrs
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X—>1 - - C. 3
(X ’)I'/ _{_f_MX 3
= i Loy LK -f; D. i
X"’i T:"m,,w: "rﬂ TMM
x ' L
0 : ’VV'\ -—--L»__ — /.L
Xx—1 I+ Xx Z




MA 165 Exam 3 01

(8 pts)

A.

Fall 2011

9. Which of the following is the graph of the function f(z) =

Name:

Page 6/8
z? :
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(8 pts) 10. Find the point on the line y = 2z + 3 that is closest to the origin.

6 3
Z=\{xsy A. <5’g>
?:m%
_ 2 \{xﬂ+4mym+‘52><+‘? -¥ B, <_§,§>
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(8 pts) 11. Find the area of the largest rectangle that can be inscribed in the ellipse
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(8 pts) 12. A cylindrical can (with both top and bottom lids) is to hold 2000cm?® of oil. Find the
radius of the can that will minimize the cost of the metal to manufacture the can.

. \(Oeume \f’:: e h T h= 2000 ¥ A _3%
=
‘:Q} M Arveee A= 2re®y onch
T 10
S N A‘_. ZFT‘(:Z 4oenw 2000 B. —
e - ' ™ ™
%, 4000 20
= PUYT 4 i C. —
Awe ? ¢ 2 Ir
' a4 e — 1000
b e - 002 o TE 2
dgv D. =&
S‘;ﬁ;,‘ "('?: leee v Ao
o e %G‘F . @9
s
44 mcg«(?-i»:t’j_j«r
dX 10 Eay
v

aps. v




